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1.Technician A says that most often the computer is designed to control the ground side of an actuator. Technician
B says that most often the engine computer is located in the trunk or luggage compartment of the vehicle. Who

IS correct?
(A)Aonly. (B)Bonly. (C)BothAandB (D) Neither Anor B

2.Which of the following components in an engine computer translates analog input signals to binary code?
(A)ROM (B)CPU (C)RAM (D) A/D converter

3.What is a memory DTC?
(A) A fault code that sets in the PCM's memory during normal driving conditions
(B) A fault code that must be erased from the PCM's memory after it has been properly repaired
(C)A fault code that sets as a result of a self test initiated by the technician but does not set in the PCM's
memory
(D) Both Aand B

4.During close-loop operation, the engine computer attempts to cause the oxygen sensor to average which of the
following?
(A)100 millivolts  (B)450 to 500 millivolts  (C)900 millivolts (D)5 millivolts

5. A vehicle equipped with EFI is brought into the shop with a complaint of poor fuel mileage and is also emitting
black smoke out the tailpipe during some driving conditions. A fuel pressure check shows that the fuel pressure
is too high. What is the most likely cause?

(A)A defective fuel pump (B)A defective fuel pressure regulator (C) High resistance on the ground side of
the fuel pump (D)A defective PCM

6. Which input values may be monitored by an OBD Il PCM to determine if the secondary air injection system is
operating properly?
(A) The oxygen(O,) sensors (B)The mass airflow (MAF) sensor (C)The manifold absolute pressure (MAP)
sensor (D) The crankshaft position (CKP) sensor

7.1f a gas analyzer's probe is placed near a fuel line leak, the analyzer readings will show an increase in which of
the following?
(A)HO levels (B)CO, levels (C)HC levels (D) O, levels

8.A six cylinders, 4-stroke cycle gasoline engine with a 8cm bore and 12cm stroke delivers 224 ps(BHP) at 2100
rpm while burning 30kg of fuel per hour. IHP is 275 ps. (4%)
Find : Torque =? (n=3.0)

FLHHEIH



—_ %l#uéﬁj&? 3113 25%

1. 4B 1 %7 > £ 1= 0% P> TREE 5 50 k3F 2 (8%)
10Q _E, 50 F
4 I
10V = 1002 100 SA
+ —_
2. B 2477 FhaB bA B - B EPOTER PETERT VEFEA LSS FL 50 2(8%)
5A
-
100Q =25V
+
. 2200
2100Q sV 2200
. +
a — 40V
b7
3. 4ol 347 > Bk t=0 fypF o SR MBRE > FRTRELL TR EE TR EE 50 2(9%)
i i
Lo 3 0
SW _T_
.
24V 6Q Lg 3H V.

Bl 3
R JF%;{BPE’ B ¥ 25%

1. 4c® 4 %755 > % FET 2 K = 0. 4mA/V" > feRt £ /& Vth = 2V- Vo= 2V > BIRs 93 % 2 (8%)
6V

B 4
2. 4Bl D #rm 0 T B AEEF AL L FEE V=6V B4&T % [c=1.2mA > B=100> # T & V; = 26mV > R RtED
71 552 (8%)

+12V

g dka
50ke ——Vo
Vie——

=

7i 1mmi (ka

) ) ® 5

F2H HIH



3. 4@ 6 %77 > & Vo / Vi = 2 (9%)

v IMQ IMQ IMQ IMQ
lG

= —-12¥ El 6

m\@?¥§25%

14c®l 7 %77 » 3. A £ 300kg; B £ 150kg > M Ao A g FFé Bl 0.2 BFRIES 6
6bm> @ BifFsd # f BR BFALDT & FREE > A A R n/sec ? (15%)

2. 4B 8w o EFEFETHEFCANERERS P2 AET G g ¢=0.3) (10%)

A

ey

@

53° 53°

B
40N

e

i 8

FIH HIH



